iy

Hi-Tech Parts

It would be convinient to re-tight the licence support screws, specially the ones that are fi xed to the
motorcy-cle, whenever you maintain the vehicle.

Thanks for your attention.

MOUNTING INSTRUCTIONS

LICENSE SUPPORT ADAPTABLE TO .
HONDA CB500F 16’ / HONDA CBR500R 16’ Ref . 8722N

[ 1D. | DESCRIPTION Qry.
1 Licence support 1
2 Metallic cap 1
3 M6x20 DIN1001 screw (black) 4
4 M6 DIN9021 washer 4
5 M6 DIN6923 nut 4
6 M5x10 DIN1001 screw (black) 2
7 M5 DIN985 nut 2
8 Plastic Bridle 5
9 Licence back light 1
10 Reflector 1
1M1 M5 screw cap 3
12 M6 screw cap 8

Fixation license support rotation (2 OPTIONS A-B)

Learn more about motorcycle parts on our website.


https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/parts.html

